sam2*CurMon:Entry$

sam2*CurMon

0 5000 1000015000200002500030000350004000045000

run3663 000 sam2.png

Entry$

1600

1400

1200

1000

800

600

400

200

sam2*CurMon {ErrorFlag==0}

evilree

Entries 37624

Mean 0.9073

Std Dev 0.01636

III|III|II l IJ_I|II

.84

| | |
094 096 0.98
samz2*CurMon

l | l
0.86 088 09 0.92

30000

10000

10000

20000

30000

40000

asym_sam2/ppm:pattern_number {ErrorFlag==0}

E_ O i}{ é}{ " }{}{ # }{}{
20000 ] 771 TT 2 T Ty T
% ) : Tk L wx
- x
B | ] | | ] | | | | | ] | | ] | | ] | | | |
0 2000 4000 6000 8000 10000

pattern_number

asym_sam?2

- Entries 9371
i Mean ~17.37
40—
I Std Dev 1741
35 i h 1 Underflow 3396
{ 1 ] ) [ 1L Overflow 3267
o IO T e TR
b
o5l L J{ ! l
i i [ [
: ] H[ |t
20 r
:I- | I | | | I I | | L1 1 1 |- | I O | | L1 1 1 | | I I |
-3000 -2000 —1000 0 1000 2000 3000
ppm




sam4*CurMon:Entry$

on

sam4*CurMon
+a
o

P
=)

42 8§

3.8%

0 5000 1000015000200002500030000350004000045000
Entry$
run3663 000 sam4.png

1400

1200

1000

800

600

400

200

sam4*CurMon {ErrorFlag==0}

I I

evtlree
Entries 37624
Mean 4 368

Std Dev 0.04499

IIII|IIII II|IIII|IIII LI|I|

|
44 445 45 455
sam4*CurMon

Ly
42 425 43 435

asym_sam4/ppm:pattern_number {ErrorFlag==0}

20000

15000

XHX X CoxXT & x X

10000

5000 -

~5000 {-

10000 | L L2l 4
el Bt L 11 ol | § B I I e

15000

||||||||
W%

_EDDDD l 1 | 1 l | l l | l 1 | 1 l l | l

l l 1 l
2000 4000 6000 8000 10000
pattern_number

-

asym_sam4

C Entries 9371
ED:— Mean 11.17

E Jr h Std Dev 1665
55 J1

[ I | Underflow 2358
50H '

N }I Overflow 2242
sl | T N[ -
4D E_J-[ J [ _ ‘|;
:35_i .
30

:I | I .| | L 11 1 | | I | | | I | | I | L 11 1
-3000 -2000 -1000 0 1000 2000 3000

ppm




sam6*CurMon:Entry$ sam6*CurMon {ErrorFlag==0} asym_same/ppm:pattern_number {ErrorFlag==0} asym_sameé6

- i thTree - - Entries 9371
= g - N P N ] I
S 1154 1400~ 20000~ 60— Mean 26.71
5 - i Entries 37624 a B _ i
S L 1200 15000 % T« x X i a StdDev 1670
RN - Mean 0.9987 < K L TTTTAT.TS T e _
- 10000 T TTX - Underflow 2369
F 1000 - sof- | -
800 I I i ' h - ] J
{ B 0 = HH H H:HHHH H H H H iy I H =
L4 i I | _
R 600 — : | I ) | L
0.95% i -50001; 400 1 ' | '
! 400 : i 1 : : T
— ¥ B "I UDDD 1 1 1 4 L1 L 4 |4l L1l 35 | |
0.9 - i I 1 VRl R i
C : - - < y x X X RE X x C
- 200 15000  x i K U 3 X i
0.85 - - x 301
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D IJ_| |J_I _EDDUD_III|III|III|III|III|I _IIII|IIII|IIII|IIII|IIII|IIII
0 5000 1000015000200002500030000350004000045000 0.96 0.98 1 1.02 1.04 0 2000 4000 6000 8000 10000 -3000 -2000 —1000 0 1000 2000 3000
Entry$ sam6*CurMon pattern_number ppm

run3663 000 sam6.png



1.1

sdlld Lurnviurn

0.85

0 5000 1000015000200002500030000350004000045000

sam8*CurMon:Entry$

Entry$

run3663 000 sam8.png

1600

1400

1200

1000

800

600

400

200

sam8*CurMon {ErrorFlag==0}

evilree

Entries 37624

Mean 0.978

Std Dev 0.01013

0.94 0.96 0.98 1 1.02
sam8*CurMon

asym_sam8/ppm:pattern_number {ErrorFlag==0}

20000
B o
- X
15000 . L
- X X X e T % _ <
10000 [T |1 A T TS THT
5nnn§— | |
i
—5nnn§_'— [ [
10000 — Rl
Al x x §xxx§£x 2 X x
15000 8 s * x
[~ o X
20000 o | | |
0 2000 4000 6000 8000 10000

pattern_number

asym_sam8

B Entries 9371
55:_ Mean —-16.98
ED:— Std Dev 1666

- _ h Underflow 2240
55—

- Qverflow 2359
501 [ r H =]

i YU -
l[ f F 1
5t [
30

_I | I .| | L 11 1 | | I | | | I | | I | L 11 1
3000 -2000 -—1000 0 1000 2000 3000

ppm




sam1*CurMon:Entry$
0.43

Urniviun

0.42

sdAllll

0.41

e ] | 1T 1T 1 | 1T 1T 1

0.39

0.38

0 5000 1000015000200002500030000350004000045000
Entry$
run3663 000 sam1.png

1400

1200

1000

800

600

400

200

sam1*CurMon {ErrorFlag==0}

[ L1 III|I

evtlree
Entries 37624
Mean 0.4024

Std Dev  0.002418

II|III|III|III|I I_lil_lll

g

394).394).396.398

403 .4040.40@ 4DBD 410.41D.414
sam1*CurMon

8000

asym_sam1/ppm:pattern_number {ErrorFlag==0}

6000

4000

2000

-2000

-4000

-6000

K %

T %
o 1
I Y I

: T |
: 1T :
| T :

: I }
: N }
| ] }
01
T}
0 1
07}
I
| ] }
I
| I }
: il }
il
1
i

W —
1
e

. M

0

2000 4000 6000 8000 10000
pattern_number

asym_sam1

B Entries 9371
180

- 1. Mean 0.5529
160

- Std Dev 1268
140

- Underflow 260
1200 Overflow 272
100
80—
60—
40
20

_IIII|IIII|IIII|IIII|IIII|IIII

-3000 -2000 -1000 0 1000 2000 3000

ppm



sam3*CurMon:Entry$ sam3*CurMon {ErrorFlag==0} asym_sam3/ppm:pattern_number {ErrorFlag==0} asym_sama3

c 20000 = Entries 9371
s |t ; evtlree : x }{ _ _
;_5'} — e 1400 __ 15000 [ . 70 __ Mean -23.41
85 | . Entries 37624 - = 5y s * i
E 1200 N :—__—— T _}{}{ “__§§—-% —-i—- —-}{__é__ - Std Dev 1684
w — 10000 N P I B i}
u Mean 7.878 g 60—
2 I i E Underflow 2352
1000 - i I
- Std Dev 0.07554 PO00W T [V [ L] |11 | I J Ovelilow 2285
L _u [ |'|
800 o PlEAEHHLAAL H::: ! 50— |
7.5 : | __ _
[ 600 5000 [ || []|]T ﬂ]
B x i i 40
T3 400~ 10000 - I
- » - p L1L L1y o T XXX i
| — n Mo o S —
I 200 15000~ 8 30—
65 i = : * e : |
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D_IIIJ_ I|IIII|IIII|IIII|IIII III|I _EDDDD_I | | | | | | | | | | | | | | | | | IT<I —IIII|IIII|IIII|IIII|IIII|IIII
0 5000 1000015000200002500030000350004000045000 7.6 7.7 7.8 7.9 8 8.1 8.2 0 2000 4000 6000 8000 10000 -3000 -2000 -1000 0 1000 2000 3000
Entry$ sam3*CurMon pattern_number ppm

run3663 000 sam3.png



sam5*CurMon:Entry$
0.82

0.81

sdlllid Lurviun

0.8

0.79

0.78

0.77

0.76

0.75

II|IIII|IIII|I..!“|I.=.__— ‘glldllllllllllll

0 5000 1000015000200002500030000350004000045000

run3663 000 sam5.png

Entry$

1800

1600

1400

1200

1000

800

600

400

200

sam5*CurMon {ErrorFlag==0}

1 L1

evtlree
Entries 37624
Mean 0.7823

Std Dev  0.003927

0.765 0.77 0.775 0.78 0.785 0.79 0.795 0.8

samb5*CurMon

5000

4000

3000

2000

1000 17771

=1000LL L L 11

-2000

-3000

-4000

-5000

asym_sam5/ppm:pattern_number {ErrorFlag==0}

'}5{|IIII|IIII|IIII

{5 W
i

N —
I
| il }
| T }
I S
| T }
: [ }
L1
O 1
| i }
{ (] |

C 7 1
{171
01
A
(111
(It
(11
{17 1
10}
I 171 I
i (i1 i
I D
: 1B !
: ) !
)]
i
I | I
)
)
1
T
T
I i I

AR W
I
I
I
I
4

&

s HUE

l l 1
2000 4000 6000 8000 10000
pattern_number

asym_sam>
n Entries 9371
300 N Mean 3.492
25[]:— Std Dev 995.2
i Underflow 47
200[~ Qverflow 29
150
100
50
r | I .| | L 11 1 | | I | | | I | | I | L 11 1
—d’nﬂﬂﬂ 2000 -1000 0 1000 2000 3000

ppm



sam7*CurMon:Entry$

2.7

2.6%

sam7*CurMon

2.5

1.9

1.8

0 5000 1000015000200002500030000350004000045000

run3663 000 sam7.png

Entry$

1600

1400

1200

1000

800

600

400

200

sam7*CurMon {ErrorFlag==0}

1 L

evilree

Entries 37624

Mean 2.203

Std Dev 0.02652

|_LI

2.1

L
2.15

2.2

2.25

2.3
sam7 *CurMon

20000

10000

10000

20000

asym_sam7/ppm:pattern_number {ErrorFlag==0}

T % T | T 1
| " |

I
10 1
I
I A
I E—
I §
I | E—
I F
I (I
I —
: i :
I I I
I E—

oo o [ E S mxo ) xIxx

I
I | B
| I
{ ]
1 1
I
7 1
I
I I
I S
I
I —
I I E—
I |
1
1
I

l l 1 l
2000 4000 6000 8000 10000
pattern_number

asym_sam?/

60— Entries 9371
E Mean —5.947
551 1
B Std Dev 1716
50 Underflow 2629
45 T W J Overflow 2752
B L r
i T,
40 ]
B 1 B i J
35 :— [ 1 l i
30} h '
25 __ | |
L | L 11 1 | | I | | | I | | I | L 11 1
3000 -2000 -—1000 0 1000 2000 3000
ppm




0.0138

0.0136

0.0134

0.0132

0.013

0.0128

0.0126

0.0124

0.0122

yield_sam2:pattern_number {ErrorFlag==0}

e
AR e
S S

- T

r
Taa LAl -

i O o U A PR P B IR

Lo . o L i LI
T T .
S oo T R
B R L M
e i Ty i % AR
.r.:|:‘ - '-I.:!. LI |.|= : i i i I:._-
"'?ri_:' -Il_i.-:‘;-. "'.-:-‘i-" I';:'-l-!'_ '}&':'-ﬁ .'_-E'i -_u_,.;l Ny
Wy SRl g B e
LE bR
R T
. AT A FYMIE T Ny
SFEIE gL T
Al & ] ;E:,*" i 3“*‘? S
= T B T i_;:_.—' s
ii.'ll'l .IE.' i _ﬁ_ LAk "{ PR
L Rk 'J@% 1 L T
it .'.?I-'I‘: AL _E-?;'__ - RELE A
E_:\ﬁ-.-.. T 'i,h wani
i TR ?\'J"{-.-,_..'_a:\. [ %
Frd A R R
Yoo omh e BN w0
i H T iva ..
i'&-:‘:'l':' .._E.::;.v._.. o h 5
:’g-i _: ;...-._-_I. .-_-.- "SI L - I'i - <
'5,.\,‘_2‘-\. érr- LT T R -
HEL N TR B L
AR v
N . i
-.- - 1.

RN T R 2

l l l l
2000 4000 6000 8000
pattern_number

run3663 000 pairTree sam2.png

10000

700

600

500

400

300

200

100

yield_samz2 {ErrorFlag==0}

[ 1 L 1=l

htemp

Entries 18749
Mean 0.01296

Std Dev  0.000185

| | | | | | l
0.0120.0124.01260.01280.0130.0130.0134).01360.0138

yield_sam?2

40000

30000

20000

10000

10000

20000

30000

40000

50000

asym_sam2/ppm:pattern_number {ErrorFlag==0}

| 0
O
]
i
|
e
| W0

Ll
AN
M
K
17
: i) |
: K] |
{ i |
N —
: I :
K
L)

w
woow |

- ""|""|,|="'i""i'"

l l 1
2000 4000 6000 8000 10000
pattern_number

700
600
500
400
300
200

100

50

asym_sam2/ppm {ErrorFlag==0}

I

PairTree

Entries 18749

Mean -74.03

Std Dev  1.054e+04

llll

0681006€80006€200001 0000 0 1000(20006B0006G10000

asym_sam2/ppm



yield_samd:pattern_number {ErrorFlag==0}

0.0645

0.064

0.0635

0.063

i Ras R AR AR RN

0.0615

0.061

0.0605

l l l l
2000 4000 6000 8000 10000
pattern_number

run3663 000 pairTree sam4.png

800

700

600

500

400

300

200

100

yield_sam4 {ErrorFlag==0}

htemp

Entries 18749

Mean 0.06241

Std Dev  0.0004757

1 I A I LI_I|I

| | [11
0.06050.0610.06150.0620.06250

| 1111 | 1
.0630.06350.0640.0645
yield_sam4

30000

20000

10000

10000

20000

asym_samd/ppm:pattern_number {ErrorFlag==0}

1 ]
I | E—
I

I —
1
I
I
1
{7 }§

l l 1 l
2000 4000 6000 8000 10000
pattern_number

700

600

500

400

300

200

100

asym_samd/ppm {ErrorFlag==0}

PairTree

Entries 18749

Mean -54.8

Std Dev 5948

[ 1.1 III|IIII|IIII|II I N

-20000 -10000 0 10000 20000 30000

asym_samd/ppm



yield_samé6:pattern_number {ErrorFlag==0}

0.0148

0.0146

0.0144

s kR U DL

Lo

.'1: _‘.‘_’.‘.._. 1

0.0142

0.014 1L H

0.0138—

2000 4000 6000 8000 10000
pattern_number

run3663 000 pairTree sam6.png

700

600

500

400

300

200

100

0

yield_sam6 {ErrorFlag==0}

asym_samb/ppm:pattern_number {ErrorFlag==0}

htemp

Entries 18749

Mean 0.01427

Std Dev 0.0001173

20000

YRR,

0.0138 0.0142 0.0144

0.0146 0.0148

yield_sam6

(1]
[
(1]

L[

(i1
il

20000

pattern_number

700

600

500

400

300

200

100

asym_samé6/ppm {ErrorFlag==0}

PairTree

Entries 18749

Mean 29.93

Std Dev 6039

l
10000 20000
asym_sam6/ppm

—EDEI[]D -10000




yield_sam8:pattern_number {ErrorFlag==0} yi eld sam8 { EI'FDI'F|3.Q ==0} asym_sam8/ppm:pattern_number {ErrorFlag==0} asym_sam8/ppm {ErrorFlag==0}

0.0144F- - htemp - y - PairTree
s 700 I “ T 8 - i
0.0143F- ! Entries 18749 Eﬂﬂtm_—:_ﬁf:_ﬁfi}{__M__}{§ Sp ot o 700¢ Entries 18749
= EDD: T T AT T L [ T o -
D.0142 v - Mean 0.01397 0000k 600 - Mean 50.51
0.0141E - ! g
;: ~00F Std Dev 0.0001071 ‘ i >00F StdDev 5995
0.014 N | N
5 400 0 i 400
0.0139f%, N i
:J : § nn__ | —_
0.0138 = : SO0k 10000 f- S00¢
I - 20000 — HH MO MOKHOR o # MMM B
0.0136— - - MMM y e e K -
B 1[][]__ | " hd ‘IDD__
0.0135F - i . -
—III|III|III|III|III|I D_Il_l I|III|III|I JI _BDDDDIII|III|III|III|III|I d|ILI_I III|IIII|IIII|III = L1 |
2000 4000 6000 8000 10000 0.0136 0.0138  0.014 0.0142 0.0144 0 2000 4000 6000 8000 10000 0000 —20000 —10000  © 10000 20000
pattern_number yield_sam8 pattern_number asym_sam8/ppm

run3663 000 pairTree sam8.png



yield_sam1:pattern_number {ErrorFlag==0}

00585

0.0058—

- L .
":".Tnﬁ.r,:q:-." ot
=
"‘-:.Egni

ety -*’!;..""-?‘:d;# HEE R

-

o
f'.ﬁ;.@ "'g Iy
il

0.00571-"

00565——

l l l l
2000 4000 6000 8000 10000
pattern_number

run3663 000 pairTree sam1.png

yield_sam1 {ErrorFlag==0}

800— h te m p
700 f— Entries 18749
600 f— Mean 0.005749
Ennf— Std Dev 2.246e—05
400 f—

300

200 f—

100 f—

Dq]ijlﬁﬁl_ﬁ 00057000575 00086 00058
yield_sam1

asym_sam1/ppm:pattern_number {ErrorFlag==0}

15000

i o ”

= w17 % x s ;ﬁ %
10000 $ 0 | [TTTTHRT. X7 T

B % TTT TIT1|7 ]

<
5000

* ]

-5000

1
1
[
I

T
T
T
I
I
N
I
I
il

i
i

10000 - A : S R A |
et hd
B >
| l 1 l | 1 l l | l l 1 | l 1 l | 1 l l | l
0 2000 4000 6000 8000 10000
pattern_number

800

700

600

500

400

300

200

100

asym_sam1/ppm {ErrorFlag==0}

| 1

PairTree

Entries 18749

Mean 8.125

Std Dev 2996

l l I I |
-10000 -5000 0 5000 10000 15000
asym_sam1/ppm



yield_sam3:pattern_number {ErrorFlag==0} yi eld sam3 { EI'FDI'F|3.Q ==0} asym_sam3/ppm:pattern_number {ErrorFlag==0} asym_sam3/ppm {ErrorFlag==0}

o1 | 800 htemp I 800 PairTree

0.116 Entries 18749

700 Entries 18749 20000— .. * 700

0.115

Mean 0.1125 I - U 77 larTTT 600 Mean -39.72

600

i
ool
P BT L

BRI e[ TP T T T T T T [ TTT1

10000 -
0.114 G, AL A 1
SGTe B 500 Std Dev  0.000872 il 1] 500 Std Dev 5603
' S A UL
% i 55 1% 400 0 " H 400
011215 i o : l
i P e 300 ! 300
SRt . 10000 -
e 200 L L LD 1+ i o § :i 200

0.11

o

4

o
4

20000 [

100 I X 100

| LAY |_'I_
LN R

0.109

|II IIII|II|||IIII|IIII|IIII I|LIII 1 |II |II

l l | l l l l l l 1 l
2000 4000 6000 8000 10000 0.109 0.11 0.1110.1120.1130.1140.1150.116 0.117 0 2000 4000 6000 8000 10000 —20000 -10000 0 10000 20000
pattern_number yield_sam3 pattern_number asym_sam3/ppm

run3663 000 pairTree sam3.png

|III|I Dllll II|IIII|IIII|II |_ILI

|III|I DIIIII



yield_samb5:pattern_number {ErrorFlag==0}

0.0113

01125

0.0112

R R . -
e

.'!EE‘-.
LR

-
'\.'l_ -
HES .
- £
o R T e R

01115

0.0111

01105

B I T 1 | [ [ | [ I T . -|- .].‘...'.-..:L:': ﬁzﬁﬁmﬁﬁﬁu‘!"] ] 1T 1T 1 | |
PERETEC e f, P T ol R e
AN Tt o' pck =Rk L

l l l l
2000 4000 6000 8000 10000
pattern_number

run3663 000 pairTree sam5.png

800

700

600

500

400

300

200

100

yield_sam5 {ErrorFlag==0}

1 LJ 1 1

htemp

Entries 18749

Mean 0.01118

Std Dev 3.227e—05

0.01105 0.0111 0.01115 0.0112 0.01125 0.0113

yield_sam5

asym_sam5b/ppm:pattern_number {ErrorFlag==0}

10000
B X X
8000 x v T wx % % x
B WHH ¥ 7 S -
- 5w Ex - Exol o ox -
Eﬂﬂﬂg— ; i TTTTTT ]
4000 [
2000H- T [TT-TTTZT LI
D%HHH HHH HHHH o H HHHEERAERHEREERHERA
—2000 - L7 | LLL{LLTL|TT
~4000 =
—6000 11l 1 o
B g_ xx§ Llue o we o wgd L
| e - 4 e o
8000 W% wx ﬁx s
| o
} B ] I ] | I ] ] | ] ] I | ] I ] | I ] ] | ]
1 DDUDD 2000 4000 6000 8000 10000

pattern_number

900
800
700
600
500
400
300
200

100

19

asym_sam5/ppm {ErrorFlag==0}

HEEE!

PairTree

Entries 18749

Mean -3.603

Std Dev 2050

00688006-6006-4006-2000 0 20004000 6000 800010000
asym_sam>S/ppm




0.0325

0.032

0.0315

0.031

0.0305

0.03

yield_sam7:pattern_number {ErrorFlag==0}

P R L I B
*41'r:jh-_::{n..:~:~*... . .o

L DL N NP 5 3 2o

Sy R

¥ by s " . .
SE e S S
LN L . -

:\.
-
o
HL
-
L
g
LN
- "..
] Lk

£

e
-
EF Y

. Eq;.l.'.-'

ARV,

""
s
IR
CREE
i

JSALEaR -E]".':;"-"!"" o

el Rt _-_'}-\,:ﬂl\,{_.\, L TN

T L ST SR T T T
.%e n

AR,
=1
-

i

e e

."'- ') ”
=L

=L 1,_3-'_.?‘.'_.;;.'-:-*': i
ERRPIT e e I

{
"
3

Tarl
".'-"'Le:‘;*.

M
G

l
20

l l l
00 4000 6000 8000 10000
pattern_number

run3663 000 pairTree sam7.png

800
700
600
500
400
300
200

100

¢

yield_sam?7 {ErrorFlag==0}

htemp

Entries 18749

Mean 0.03147

Std Dev  0.0002876

_.-J_I_JI

-
L

0.0315

0.0325
yield_sam/

30000

20000 T

10000

10000

20000

30000

0

asym_sam7/ppm:pattern_number {ErrorFlag==0}

e
e

[
I
I
1
I W
I
1
|
1
I
I
L1
I
T 1
I
LT 1
I | —
I |
I | § —
1
I
I |
0§

L e incsas 0% o
_}{}{§ et }{g}{}{}{

l l 1 l
2000 4000 6000 8000 10000

pattern_number

800

700

600

500

400

300

200

100

asym_sam?7/ppm {ErrorFlag==0}

I|II_I IIII|IIII|IIII|IIII

PairTree

Entries 18749

Mean 52.6

Std Dev 6859

0000-20000-10000

10000 20000 30000

asym_sam?y/ppm



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3663 000

as

as

= ] =
. 0.03- lanc . 0.03- m | 16
0.021 —70¢ 0.02 —14t
- - —{12(
0.01F oo 0.01F
- - —10¢
oF 0
-0.01F -0.01F
-0.02 -0.02
N . .
-0.03- -0.03- 20
[ m B u
—'D.ﬂ _I | | | L1 1 1 | L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | 11 —{].ﬂ _I | | | L1 11 | L1 11 | L1 11 I L1 11 | L1 11 | L1 11 | L1 11 |I
9804 —0.03 —0.02 —001 0 001 002 003 06.02-0.015-0.01-0005 0 0.005 0.01 0.015 0.02
asym_samz2 asym_samd
as asym_sam4
ﬂ.nzz— - yac {].GEZ— -
nn15: " {]D15: I
SR —14¢ SR
" n —{70(
0.01 0.01
n —{12¢ n
- - —{60(
0.005F - 0.005F
B 10( - 50(
o] = =
N N 400
-0.005 - -0.005 - 30¢
-0.01F ~0.01F 20¢
- N -
0.015— I -0.015— 10(
—'D.ﬂ :I L1 1 | L1 1 1 | L1 11 | L1 1 1 | L1 11 | L1 11 | L1 11 | L1 —{].ﬂ :I L1 1 | L1 11 | L1 11 | L1 11 I L1 11 | L1 11 | L1 11 | L1l 1 |I ,D
%04 —003 002 001 0 001 002 003 96.02-0.015-0.01-0005 0 0.005 0.01 0.015 0.02
asym_sam2 asym_samd
as asym_sam4
- — —25[ - —
. W = [ |
0.02F 0.02F —16¢
0.015F _one 0.015 14
0.01F 0.01F 12
0.005F 15 0.005F —10(
u:_ u:_ 80
n 10( n
-0.005 -0.005 60
-0.01F -0.01F 40
" 50 "
0.015F -0.015F O 20
" " " L
—'D.ﬂ _I 1 1 1 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 11 | 111 1 | L 1 1 1 | 1 1 ,D —ﬂ.ﬂ _I 1 1 1 | 1111 | 1 111 | 1 111 I 1 1 11 | 1 111 | 1 111 | 1111 |I ,D
%04 —003 002 001 0 001 002 003 96.02-0.015-0.01-0005 0 0.005 0.01 0.015 0.02
asym_samz2 asym_samd
0.015F g 14 0.015F —80¢
{].m:— 1o {r:.m:— eac
0.005F 0.005F
: —{10( : —40(
(o] == h]=
N 80 N
- 0 30¢
-0.005 -0.005
" 60 "
-0.01 ~0.01 20(
N 40 N
0.015F - -0.015F
: = 20 : 10(
~0.02F . ~0.02F -
_I 1 1 1 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 11 | 111 1 | L 1 1 1 | 1 1 _I 1 1 1 | 1111 | 1 111 | 1 111 I 1 1 11 | 1 111 | 1 111 | 1111 |I

0

asym sam2468 “mutual correlation-CO

as

— —25[

- 0.03f
0.021- —20
0.01
N —15(
o
-0.01F 10
-0.02
- 50
-0.03|
_ |
—ﬂ.ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III ,D
06.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samé
Aas
0.02
- M —16(
0.015F
- —14(
{::.m:— o
{].ﬂﬂ'&:— . oo
0 80
-0.005F 80
-0.01F 40
- L
-0.015F 20
—ﬂ.ﬂ :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III ,D
98.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samé
Aas
- p— —30(
n N
0.02F
n —80C
0.015F
n —70(
0.01
- —60(
u.m:-5:— -
o 40
-0.005F 300
-0.01F 20¢
-0.015F 10¢
—ﬂ.ﬂ :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III _D
96.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samb6
AN _
- 0 —186(
0.015F -
0.01F 14
0.005F &
- —10(
o
- 80
-0.005F
- 80
-0.01F -
- 40
-0.015 .
- 20
~0.02F ™

02 ge-05-0.01-0.005 0 0.005 0.01 0.015 0.02
p n asym_samé
. g

as

B — —16(
003 m
- [ —14¢
0.02
- [ —12¢
0.01
N —10¢
oF
-0.01F
-0.02
N -
-0.03|
B m
_,Dn4_lllIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII

© -0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g

as

0.02

—60(
0.015

—50(
0.01

0.005

—40(

-0.005

-0.01

-0.015

"

_ﬂnE_lllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

T -0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8

as

0.02

—16(

0.015 14

0.01 {121

0.005% 10¢

-0.005

-0.01

-0.015 u

_ﬂlnz_lllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g

as

0.015

—80(C

0.01 =70t

—&0C

0.005

-0.005

—-0.01

-0.015

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-0.02

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g




asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3663 000

72 | ndf

p1

asym_sa

20.55/26

p0  -4.656e-06 £ 2.511e-06

0.999 £ 0.000

—0.01

—-0.02

-0.03

-0.04 -0.03 -0.02 -0.01

4ASVYIl_Sa

0 0.01

m2

0.02 0.03

¥/ ndf 37.97 /26 B
pl  —4.598e-06 + 2.830e-05 .
|
p1 0.456 + 0.005 +++#H+ -
— 1JH+++
0.005 #
o
-0.005 &
_ _ i
- b
_0.01— tH
- 1+
-0.015- _
:Illlll_llI|IIII|IIII|IIII|IIII|IIII|II
—0.04 —0.03 -0.02 001 0 001 002 0.03
asym_sam?2
B | ]
n.o2 ¥2 [ ndf 2957/ 26
0.015F = p0  —1.831e-05+ 1.486e-05
B !
- A,
0.01F *"*m o1 _0.5493 + 0.0027
0.0051
o
-0.005 )
E “"m_’
—0.01 .
- "
N T
-0.015F e
:IIII|IIII|IIII|IIII|IIII|IIII|IIII_|II
—0.04 —0.03 -0.02 001 0 0.01 002 0.03
EMQHD_SaDLZ
= | ]
- - %2 | ndf 37.34 / 26
0.015F _
- 1t p0  4.908e—07 +2.794e-05
0.01F Iy
- 1 +'|'++J,+|.
- t p1 —0.4602 + 0.0052
0.005F .
0
-{].D{}'E:— %**4
- +
N il -
~0.01F i
B w
B 1
0.015F
_.DLGE—_IlllllllI|IIII|IIII|IIII|IIII|IIII_|II

asym sam2468

0.02 0.03

1

utual

72 | ndf

asym_sa

34.16 /39

p0 -6.111e-06 £ 4.714e-05

o1 1.474 +0.012
o
—0.01
i Jr
- JrJr+H++
—n.nz:— H

083 Ly v Loy b by by by by v a L

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

2 { ndf

p0

pl

4SVINl_Sa

4555/38

2.128e-06 £ 1.286e-06

0.9988 = 0.0003

m4

0.005

-0.005

-0.01

-0.015

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

=
III|IIII|IIII|IIIIIIIII|IIII|IIII|II

+
H f

m4

2 | ndf

p1

36.44 /39

p0  -1.032e-05%2.751e-05

-0.8318 = 0.0070

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

m4

2 | ndf

p1

28.48/39

p0  -4.932e-06 = 3.828e-06

-0.9976 = 0.0010

02-0.015-0.01-0.005 0

COorre

at

l"‘.D{}E 0,09 0.015 0.02

1011~

fit.p

asym_sa

0.03

0.02

0.01

-0.01

-0.02

-0.03

b

|
s

mé6

72 | ndf

38.59 /37

p0 -3.351e-05 = 2.398e-05

pl

-1.679 = 0.006

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02 0.025

45yImn_»54

0.015

0.01

0.005

-0.005

-0.01

-0.015

5
ey

moé

2 | ndf

31.24 /37

pld  —4.073e-05 = 2.666e-05

pl

-0.79 £ 0.01

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02 0.025

2 | ndf

pi

asym_sa

254 /37

p0 —4.012e-07 = 1.404e-06

0.9993 = 0.0003

0.005

-0.005

-0.01

-0.015

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02 0.025

asym_sa

%2 { ndf 33.18 /37
p0  3.454e-05+ 2.569e-05
p1 0.8059 = 0.0066
of

—{].D{}EE— ) J[
-0.01 f— } Jyﬂ e

-0.01 52— L +
_0.02F -

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02 0.025

ng

asym_sa

0.03

0.02

0.01

-0.01

-0.02

-0.03

=1

72 | ndf

29.84 / 38

p0  -2.633e-05 = 4.645e-05

pl

-1.488 £ 0.012

.I.

i,
f

-

45yIn_54

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02-0.015-0.01-0.005 0 0.005 0.010 0.015 0.02

=1

2 | ndf

2253/38

pld  -2.578e-06 = 3.862e-06

1 -0.9942 = 0.0010

7

-0.02-0.015-0.01-0.005 0 0.005 0.010 0.015 0.02

asym_sa

72/ ndf 29.06 / 38

p0  -3.813e-06 * 2.643e—05

p1 0.8488 + 0.0068
0.005

oF

—{].ﬂ{}'&f—

-{::.mf— t Jﬁf#
_0.015( )

—_

\
=
—+

p0

p1

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

asym_sa

%2 / ndf

41.31/38

-6.68e-07 £ 1.31e-06

0.9989 + 0.0003

=1

-0.005

-0.01

-0.015

-0.02

AN

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02




asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3663 000 asym

as

0.03
0.02

0.01

-0.01
-0.02

-0.03

—{]._ﬂg

Al

0.02
0.015
0.01

0.005

-0.005
-0.01

-0.015

04 003 -002 001 O 0.01 002 003

asym_samz2

—{]._ﬂg

as

0.02
0.015
0.01

0.005

-0.005
-0.01

-0.015

04 003 -002 001 O 0.01 002 003

asym_samZ2

—{]._ﬂg

0.015
0.01

0.005

-0.005
—0.01
-0.015

-0.02

04 003 -0.02 001 O 0.01 002 0.03

asym_samz2

“sam2468 ‘mu

as

0.03

0.02

0.01

-0.01

-0.02

-0.03

—ﬂ.ﬂ IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|I
—E.DE—{].NE—{J.N—{J.GGE 0 0005 0.01 0.015 0.02

asym_samd

as

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

=
IIIIIIIII|IIII|IIIIIIIII|IIII|IIII|IIII|

—ﬂ.ﬂ IIII|IIII|IIII|IIIIIIIIIlIIII|IIII|IIII|I
—3.132—{1.1315—{1.131—{1.(;{15 0 0005 0.01 0.015 0.02

asym_samd

as

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

—ﬂ.ﬂ IIII|IIII|IIII|IIIIIIIIIlIIII|IIII|IIII|I
—S.DE—D.ME—{IW—D.G[}E 0 0005 0.01 0.5 0.02

asym_samd

as

as

0.03
0.02

0.01

-0.01
-0.02

-0.03

00

as

0.02
0.015
0.01

0.005

-0.005
-0.01

-0.015

02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samé

00§

as

0.02
0.015
0.01

0.005

-0.005
-0.01

-0.015

- ]
:IllllllII|IIII|IIII|IIII|IIII|IIII|IIIIIIII
02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samé
]
.-'--l.-.

00g

02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_samb6

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

0.015F 0.015
0.01F 0.01
0.005F 0.005
oF 0
-0.005( -0.005
-0.01F ~0.01
-0.015F -0.015
-0.02 -0.02
_IIII|IIII|IIII|IIIIIIIIIlIIII|IIII|IIII|I
02-0.015-0.01-0.005 0 +9.005 (.0 0.015 0.02
4
tual correlation-sca

t.png

asym_samé

as

0.03

0.02

0.01

-0.01

-0.02

-0.03

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

_,an‘_lllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

© -0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g

as

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

_ﬂnE_lllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

T -0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8

as

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

_ﬂlnz_lllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g

as

0.015

0.01

0.005

-0.005

—-0.01

-0.015

-0.02

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02
asym_sam8g




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

run3663 000 asym saml1357 ‘mrutual correlation-CO

| — o i — i —
- 0 - LR —30¢
0.006 0.006 —10¢ 0.006
- —80( - -
0.004— 0.004— 0.004— —23¢
u u —an u
0.0021 o 0.0021- 0.0021- —20(
Bl Bl &0 Bl
o = = 150
i 40( L i
0.002- _0.002]- 40 _0.002|-
. . . 10¢
0.004 201 _0.004 _0.004
i i 20 - 50
- | L] | n
~0.006 |- -0.006— -0.006— 0
_I|III|IIIIIII|III|III|III|III _IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII _IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIII
~0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 -0.02 -0.015 -0.01-0.005 0 0.005 0.01 0.015 0.02 ~0.0050.0040.0030.0020.001 0 0.0010.0020.0030.0040.005
asym_sami asym_sam3 asym_samb
aS aS _ aS _
0.015F —10¢ 0.015F 0.015F x .
: : —70( : Ik
0.01 0.01 0.01 -
- . - 80 - 50
0.005 0.005 0.005
- - —50( -
N N N 60
O o o
-0.005 -0.0051 -0.005 :—. 40
-0.01F -0.01 20¢ -0.01
n n - 20
0.015 -0.015F 10( -0.015F
: . . o : .
__DLGEI|III|III|III|III|III|III|III —ﬂ.ﬂ IIII|IIIIIIIIIlIIIIlIIII|IIII|IIII|IIII —'D. IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
~0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 98,02 -0.015 0.01-0.006 0 0005 001 0015 002 ~0.0050.0040.0030.0020.001 0 0.0010.0020.0030.0040.005
asym_sami asym_sam3 asym_samb
as asym_ asym_
0.004F —{30¢ 0.004F " 1o 0.004F "
- - - —10(
0.003 0.003 0.003
: 1 . 180 :
0.002F 0.002F 0.002 _laoc
0.001F —20( 0.001F 0.001F
- = 80 :
—0.001F —0.001F 40 —0.001F
- - - 40(
-0.002F -0.002 -0.002
0.003[- ~0.003[- _0.003[-
- - 20 - 20(
-0.004 : -0.004F — -0.004F
- | - u -
_DLGGE_I|III|III|III|III|III|III|III —D.ﬂﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _,Dlﬂ5_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
~0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 03.02-0.015 -0.01-0.006 0 0005 001 0015 002 020050.0040.0030.0020.001 0 0.0010.0020.0030.0040.005
asym_sami asym_sam3 asym_samb
s s s
B [
- - —80(
002 N ' 0.02 ' 0.02 —(10¢
. - —10¢ . .
- —50(
i —80
0.01- _lso 0.01 0.01
- —40(
- 60
o 0 0
- 30(
i 40
~0.01— ~0.01 20( -0.01
- 10( 20
~0.02- E N ~0.02 N ~0.02 N
i . i - i -
I|III|III|III|III|III|III|III IIII|IIIIIIIIIlIIIIlIIII|IIII|IIII|IIII IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0

Iﬁi =g (0.0020.0020.001 0 0.0010.0020.0030.0040.005

. p n g asym_samb

0.006

0.004

0.002

-0.002

-0.004

-0.006

—10C

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.02 —-0.01 0 0.01 0.02
asym_sam7y

—E0C

—50C

—40(

11 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | 11 ,D

0.004

0.003

0.002

0.001

-0.001

-0.002

-0.003

-0.004

-0.005

-0.02 —0.01 0 0.01 0.02
asym_sam7

—10C

"

as

' 0.02

0.01

-0.01

-0.02

-0.02 —-0.01 0 0.01 0.02
asym_sam7y

| —80C

—70C

—60C

-0.02 —-0.01 0 0.01 0.02
asym_sam7y



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

run3663 000 asym

asym_sa

72 | ndf 27.87 /38
p0  —2.769¢-08 + 4.653e-07

P 0.9994 = 0.0004

UL

-0.002

-0.004

-0.006

—{].ﬂﬂ'ﬁ -0.004-0.002 O

0.008

0.006

0.004

0.002 0.004 0.006 0.008

ml

%2/ ndf 115.2/38
p0  —-3.537e-05* 4.405e-05

p1 -0.9015 £ 0.0355

0.002

-0.002

-0.004

-0.006

-0.006-0.004-0.002 0O

E

0.004

el
e

0.003

o

0.002

0.002 0.004 0.006 0.008

ml

2 | ndf 166.6 / 38
p0  1.203e—06 + 3.52%e—06

pi —0.635 £ 0.003

0.001

—0.001

-0.002

-0.003

-0.004

-0.006-0.004-0.002 0O

asym_sa

7= [ ndf 114.5/ 38
po 4.564e-05 £ 5.395e-05

p1 1.062 £ 0.043

0.002 0.004 0.006 0.008

0

-0.002

-0.004

-0.006

-0.008

—-0.01

0.002

0.001

-0.001

-0.002

-0.003

-0.004

-|-|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

mJ3

72 [ ndf

43.13 /40

po 9.111e-07 £1.531e-05

p1

—0.09683 £ 0.00390

b

+%H

-0.02-0.015-001-0.005 0 0.005 0.01 0.015 0.02

4SVINl_Sa

1 I ndf 30.49 / 40
PO —4.846e-07 = 1.278e-06
p1 0.9986 = 0.0003
of-
0.008]-
-0.01 f— ;:"
0015 7

-0.02-0.015-001-0.005 0 0.005 0.01 0.015 0.02

asym_sa

mJ3

44 85/ 40

j.ﬂﬂEE_— - IE f I'Il:“
ﬂ‘mgz_ p0 _9.61e-07 = 1.09¢-05
1.0015

N - p1 —-0.003878 + 0.002760
0.001F ‘
1.0005 }[ H J[ - }

o hWﬁLF

B }H 1 bh i' HH +
1.0005 } + 1
-0.001F }
3.ﬂ[}15-_|—|||||||||||||||||||||||||||||||||||_||||||

-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

0.02

0.01

-0.01

-0.02

sam1357 mutual

mJ3

¥Z [ ndf

p

40.97 / 40

p0 5.9e—-06 £ 4.6e-06

—1.214 + 0.001

0.02-0.015-0.01-0.005

lat

Correia

0.005, Og1 0.015 0.02

tion-

fit.pn

|
=

0.006

0.004

ms

72 [ ndf

53.66 / 37

po 2.711e-06 £ 5.254e-06

pl

—1.388 = 0.006

0.002

-0.002

-0.004

-0.006

—
I|III|III|III|III|III|III|I

—0.004

0.008

0.006

0.004

—-0.002 0

2 | ndf

59.6/37

pld  -2.675e-05 = 4.6248-05

Pl —0.06019 £ 0.05250

0.002

-0.002

-0.004

-0.006

—0.004

asym_sa

2 | ndf 2253 /37
p0  —1.287e—07 + 3.258e—07

p1 0.9993 £ 0.0004

—-0.002 0

0.001

-0.001

-0.002

-0.003

-0.004

—-0.004

asym_sa

¥ [ ndf 59.52 /37
po 3.815e-05 £ 5.638e-05

p1 0.116 = 0.064

-0.002 0

oot f

-0.004

-0.006

-0.008

-0.01

II|III|III|III|III|III|II
—

HmwﬁwﬁWM

e {} |J[

—-0.004

o

-0.002 0

asym_sam’?/

72 [ ndf 38.23/ 38

po 3.698e-06 £ 1.533e-05

Pl 0.07665 £ 0.00319
o i
-0.001 * Hh]l

-0.002

-0.003

CT T T [ T T T T[T T T T[T TTT]
1
- ———

-0.02 —-0.01 0

0.015

0.01

0.005

m7/

0.01 0.02

¥ [ ndf 289/ 38
p0 4.296e-06 £ 3.802e-06

Pl -0.8178 £ 0.0008

-0.005

—-0.01

-0.015

-0.02 —-0.01 0

asym_sam’?/

2 | ndf 35.85 /38

p0  -3.132e-06 = 1.086e-05

p1 0.004428 + 0.002250
0.001
3.1::::}053— {
of
::.m:mﬁf— 1
—n.nmf— ][
E...|....|....|

Wﬁwﬁﬁw

0.01 0.02

-

-0.02 -0.01 0

asym_sam’/

72/ ndf 33.77/38

po 1.143e-07 £ 1.638e-06

0.01 0.02

p1 0.9994 + 0.0003
.D -
~0.01— )
002 -
_I I_I | 1 1 1 1 | I I | | 1 1 1 1 | 1 1 1 1 | 1 1 1
—0.02  —-0.01 0 0.01 0.02




asym_sam

asym_sam

asym_sam

asym_sam

run3663 000 as

0.006
0.004

0.002—

-0.002 —
-0.004 —

-0.006 —

-0.006 -0.004 -0.002 O 0.002 0004 0.006 0.008

0.015

0.01

0.005

-0.005

—0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.02

asym_sami

—0.006 -0.004 -0.00

0.004

0.003

0.002

0.001

—0.001

-0.002

-0.003

-0.004

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

2 0 0002 0004 0006 0.008
asym_sami

-0.005 —0.006 -0.004 -0.00

as

' .02

0.01—

-0.01—

-0.02—

2 0 0002 0.004 0.006 0.008
asym_sami

—0.006 -0.004 -0. DI[]'

ym Sa

0.006
0.004

0.002—

-0.002—
-0.004 —

-0.006—

-0.02 -0.015 -0.01 -0.005 O

as

0.015
0.01

0.005

-0.005
-0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.005 0.01 0.015 0.02
asym_sam3

—ﬂ.ﬂ IIII|IIII|IIII|IIII|
—g.ﬂE -0.015 -0.01-0.005 O

as

0.004
0.003
0.002

0.001

—0.001
-0.002
-0.003

-0.004

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.005 0.01 0.015 0.02
asym_sam3

—D.ﬂﬂ IIII|IIII|IIII|IIII|
—g.DE -0.015 -0.01 -0.005 O

as

' 0.02—

0.01—

-0.01—

-0.02—

0.005 0.01 0.015 0.02
asym_sam3

L 1 1
13 ;"“7[}4 {]DDE {]D{}E t 1DE -0.015 -0.01 -0.005 O

COorre

l{]DIDE 0.015 0.02

ation-scat.png

0.006
0.004

0.002—

-0.002—
-0.004 —

-0.006—

—0.0050.0040.00230.0020.001 0 0.0010.0020.0030.0040.005

as

0.015
0.01

0.005

-0.005
-0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0. L1l

asym_samb

—0.0050.0040.00230.0020.001 0 0.0010.0020.0030.0040.005

as

0.004
0.003
0.002
0.001
0
-0.001
-0.002
-0.003

-0.004

-Hm

asym_sam5b

_DG%E 1111

0080.0040.0020.0020.001 0 0.0010.0020.0030.0040.005

as

' 0.02—

0.01—

-0.01—

-0.02—

asym_samb

—0.0050.0040.00230.0020.001 0 0.0010.0020.00:30.0040.005

asym_samb

0.006/—
0.004 R I

0.002—

-0.002—

-0.004 —

-0.006—

-0.02 —-0.01 0 0.01 0.02
asym_sam7y

0.015

0.01

0.005

-0.005

-0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_,DLGEII|IIII|IIII|IIII|IIII|II
-0.02 —0.01 0 0.01 0.02

asym_sam7

0.004

0.003

0.002

0.001

-0.001

-0.002

-0.003

-0.004

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_DLGGEII|IIII|IIII|IIII|IIII|II
-0.02 —0.01 0 0.01 0.02

asym_sam7y

as

' 0.02—

0.01—

-0.01—

-0.02—

-0.02 —-0.01 0 0.01 0.02
asym_sam7y




